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Public Economics 3

Summary notes: Black et al, Chapter 4

Imperfect competition

Learning objective

· Discuss the social costs of monopoly and indicate their relevance for ‘deregulation’

· Outline the characteristics of a natural monopoly

· Discuss the case for and against privatising a natural monopoly

· Discuss the purpose of competition policy in SA

Section 4.1: deals with artificial monopolies -markets in which competition is feasible but from which competitors are excluded.

Section 4.2: looks at natural monopolies (the declining cost case), which raise the question of state ownership.

Section 4.3: discusses other forms of imperfect competition and the new competition policy in SA.

Section 4.4: looks at more recent theory on monopoly, including Demsetz’s ‘efficiency hypothesis’.

4.1 On the social costs of monopoly

Monopoly vs perfect competition (PC).

PC equilibrium where demand = supply at pt E.

Monopoly equilibrium where MR=MC at pt F; market produces a smaller quantity at a higher price.

See familiar Figure 4.1, p. 47. 

Differences also shown in terms of the simple two-sector model of Ch 2, in which the MRPT is equal to the ratios of marginal costs and prices of the two goods.

MRPTxy = MCx/MCy = Px / Py
Assuming good Y is produced by a monopolist and good X is produced under perfect competition, this condition no longer holds because Px = MCx while Py > MCy.

MRPTxy > Px / Py
This violates the first and third conditions for Pareto optimality.

Illustrated in Figure 4.1, p. 48. 

Competitive equilibrium at pt C. 

Introduce a monopoly producer of Y – equilibrium at M0 where commodity price line PmPm intersects the PPF. 

Results in a lower output of Y at a higher relative price.  

Allocative inefficiency reflected by the distance between pt C and pt M0. Moving to pt C would result in a reallocation of resources to produce more of good Y relative to good X.

X-inefficiency is also possible in the absence of competition – with no threat of entry monopolist might lack incentive to be X-efficient (maintain high labour productivity, acquire necessary information, etc). 

See pt M1 – resources are not being fully utilised.

Both allocative inefficiency and X- inefficiency may give rise to social costs.

But -  monopolies may be in a better position to achieve technological advancement (Schumpeter, 1954). Could move the whole PPF outwards (see R1T1). 

Thus even if the economy were located at an X-inefficient position, everyone could be better off (pt M2 for e.g.)

Under these conditions what happens when deregulation (attempt by authorities to promote competition) takes place?

If the PC story holds, then deregulation could make society better off.

If the Schumpeter story is true, deregulation may involve a cost because of the lesser ability of PC firms to innovate (uncertainty problem for ‘first’ mover and a lack of funds).

4.2 The decreasing cost case:  To privatise or not?

Natural monopoly – characterised by large capital outlays that give rise to economies of scale over the entire range of its output (declining long-run average cost curve).  Big public utilities, where more than one firm in the industry is infeasible, are the typical example (e.g. water, elec, rail transport).

See Figure 4.3, p. 50. 

Under PC, firms would make a unit loss equal to ES at equilibrium pt E (where Pe = MC). They would close down in long-run until a natural monopoly emerged. 

A privately-owned natural monopoly will maximize profit at pt M. Pm is higher and Qm is lower than in the PC case. Not Pareto-optimal. Loss of consumer surplus.

What should be done about this welfare loss?

1) Govt can regulate privately-owned monopolies.  Here, the producer is forced to apply marginal cost pricing, and the state pays a subsidy (= ES) from tax revenues.

2) Alternatively, the state can nationalise the monopoly and produce at pt E.  Since AC > AR at this point (= ES), tax revenues will have to be used to cover costs.

In both cases this would give rise to an excess tax burden.  Borrowing to cover costs could have a crowding-out effect.

So regulating or nationalising a monopoly may improve allocation, but could still distort economy.

Question of natural monopolies has attracted considerable attention in recent times, the question being should they be run by the public or the private sector?

Current trend in many parts of world and SA is to privatise (for e.g. in SA - Iscor, parts of Telkom). 

But no straightforward answer.

See Figure 4.4, p.52. 

Assume sector Y is a natural monopoly (with equilibrium at Mu0). Regulating (or nationalising) a private monopoly could move the economy from Mu0 to Mr0.

The move inside the frontier is caused by the distorting effect of taxes. If the regulated outcome represents a higher level of welfare, then the distance between Mu0 and Mr0 represents the difference in allocative efficiency.

But subsidised state monopolies might be more likely than unregulated private monopolies to be X-inefficient. For e.g. if the private monopoly is at Mu1 and the regulated monopoly is at Mr1.

Also, with the private sector’s greater capacity for innovation, the PPF could move outwards to R1T1, and even allowing for X-inefficiency, society could be left better off at Mu2.

The argument depends on whether gains in X-efficiency and technical know-how outweigh the loss of allocative efficiency that accompany privatisation.

Measurement difficulties have resulted in these economic arguments being neglected in favour of a discussion on financial gains to the state.

These take two forms:

1) The proceeds from the sale of state-owned utilities - can be used to reduce debt and hence increase the portion of the budget set aside for more productive purposes.

2) The second is that privately-owned monopolies pay taxes – state-owned ones do not.

Black et al’s conclusion is that the case for privatisation is quite strong.  It is likely to:

· Boost X-efficiency and technical progress

· Lessen the burden of the public debt (reducing interest payments)

· Broaden the tax base, and

· Ultimately enable govt. to cut taxes and initiate process of sustained growth

But, price increases and job losses may result. (See also supplementary articles on pros and cons of privatisation.) 

4.3 Market power and competition policy

Monopolistic competition (where many firms produce close substitutes and each has some control over the price) and oligopoly (where few firms produce a homogenous product and each has considerable control over price) are two other forms of imperfect competition (IC) that fall between the two extremes of monopoly and perfect competition.

Qpc > Qic > Qm 
and

Ppc < Pic < Pm
With sector X assumed to be PC and sector Y to vary between the three:

(Px / Py)pc > (Px / Py)ic > (Px / Py)m 

Illustrated in Figure 4.5, p.52.  Pt I lies between pts C and M, implying smaller degree of allocative inefficiency.

This is a purely theoretical analysis.

In practice, policymaking has tended to concentrate on degree of concentration within markets– in terms of number of firms and patterns of ownership.

Empirical evidence suggests strong correlation between profitability and concentration in SA.

Problem:  how does one interpret such a result? Could be due to for e.g. monopoly pricing or lower costs as a result of efficiency. The outcome of the analysis will have important implications for policy.

Some believe policy ought to be directed at breaking up highly concentrated industries.

Competition policy (an indirect govt intervention) is aimed at eradicating restrictive practices arising from the abuse of a dominant position.  Focus is not on dominance per se but rather on abuse of that position.

A restrictive practice would thus be one that limits entry of others into the market, while raising prices or limiting choice.

Outcomes should be to move towards the ideal of PC:

· Lower prices

· Expanded choice

· Technological progress

· Increased fixed investment

The policy should help to redistribute incomes (through lower prices) and, by removing barriers to entry, allow for new small firms to emerge and prosper.

What competition policy in South Africa is like and how it works – see Box 4.1

4.4 Is competition policy necessary?

Some believe that when superior low-cost firms out-perform their less efficient competitors, high degrees of market power and ownership concentration are the expected outcome.

Prices in such markets are LOWER than they would otherwise have been.  Intervening would thus lead to sub-optimal outcomes.

Operating in contestable markets (even if competition is only potential rather than actual) provides sufficient incentive to keep prices low and quality high.

As long as barriers to entry and costs of exit are not significant, the threat of competition (also from overseas firms or imports) is sufficient to ensure that market power is not abused.

Examples:  the auto or aircraft industries.  Competition in both is fierce, despite the limited number of firms.

